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A< Hue < 293 fas €91 7% T Aaet 97

Faedt ¥ famdlde 3 Tr3<ds fas yarg e gur 97

=0 w3 fea™ 3 AT © WAd §79 ¢ fea @t fef

UAs 10 Ae 3 at = 97

UAS 11 3796 3 ot g2 7

UAS 12 T39S € Hg U Adte €3 et fea ygre foy|
YRS 13 =7 o fena3t 3 d¢ feq ygre g9 fay|

YRS 14 73796 Tt faastut famit g7

yEs 1
U 2
yHs 3
yrs 4
YrS 5
U 6
yrHs 7
Yrs 8

Y 9

(2 M T YHS)
TR & U 3 feaw € yge g9 ot w8tw fe St 97

=Y HYT €7 ot Mg J7

TIEI& I o I I?

feam wae I &t gT= I?

T w3 feam fev aet € W39 fay|

=T w3 feaw €3 »ig U< =8 a¢t € 33T ¥ & foy|
ATt g=I?

A =7 3T=ds 3 ot 1= 37

363 ¢ fegTd MgHd A€ & AT 979 of €81% J7?

YRS 10 T3S @ @0 w3 feam Gug &t ming 37

UAS 11 A< Hae & <93 fas €ar 7% J Aot 37 &7 {41

UAS 12 576 @0 w3 feam fee fas roret ger 37
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yrs 13 fat fags 3 et g 7
Ui 14 fawt fAaz €t &t 33T 37
UAS 15 %1 €7 fg¢ 9 € HY a9a af I&7

(3 T TH YHS)
yAs 1 0 w3 feam 3 &t = J?
UAs 2 0 w3 feam feg &t W39 97
UHE 3 A M3 396 I df FTEI?
UHS 4 Ae M3 I37<ds feg ot w39 37
UAS 5 Ae M3 3Eds O U w3 feaw 3 &t ygre e 37
UAS 6 Fded € fardide 3 er3=9s & yama €t J7 fuy few fau
UAs 7 0 73 fea™m §3 miAg uBe 8 Jt id 337 99 fay|
UHS 8 TU M3 A'E I<T € @0 w3 feam €3 &t »irg e 37
UAS 9 AAed aHa3T € @0 w3 fea™ €3 ot ming Uer 97
UAS 10 3296 et famit 979 Areardt fel
YRS 11 90 3 feg™ 3 A'e € »Ag 979 det € e31st fef|
UAS 12 T3S © @0 w3 fegm 3 ygre € yy feg aet € esist feg
UHE 13 T3S & IIT g 9T Iy’ § fa= ygrfes i3
YRS 14 93t fags € &t faw 57
UHS 15 Myt € 79s BEt A faus famt € user agat grdtet 97

(5 W TS YAS)

Uis 1 S0 73 feam 3 yge uSe =78 fauas-faus 33 957 fenaa a5 fad|
UHE 2 *0 T @0 w3 feam €ue ot mmg Uer 97 femas & o4
UHS 3 T3S @ @0 w3 feam €ug ot »img Uer 97 femus &% fab|
UHS 4 A€ M3 3296 3 &t g2 I? gfont © fenadise €3 fegt e &t mng e 71
UAS 5 0 W3 fea™ 3 A M3 T37<ds € Al g J7 €81t fefl
UHS 6 9H31 »3 T8 €1 Ag™® W3 AeTel 3 fe d &< &y
UHs 7 13fe3 3as 3 df 9= 37 feq fugat § fag faor Aizfes 37w v gdter 97
s 8 I6 fafimit fes fan fea 3 &< fau|

1. €€ &t ATt 2. o&T &t AETEt 3. 9HIT €t AeTEl |
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HHTS +2

fer™ : Adtod fAfYmT

[17]



10+2
Uy's 1 Aded WaraT

(1 7 T YAS)

UHAS 1 AdIdd War3T €7 wdy &y |

Ui 2 feradt § mide w3 uit € 7% fan an & 9971 3d1d 578 J9& € I9H JHBIT
& ot afde &7

UHS 3 “Aalad WaI3T, Aies €t T93Hs M3 AgTfe3 Adlad 93T § ASsST
&% HOHST J96 € mia a J 17 feg Jus faw feees e 97

Ui 4 feq vay ©t fast g99¢ 99 97 &fed o J9s & g ET § df afde g&?
YRS 5 AIl9d WaI3T ¥ d€f € Hu 3= fay|

UYAS 6 AIled Wars™ © fas 33 987

YAS 7 AIIOd WarsT € 33T ¥ & {3y

UHS 8 393 € df Mag J7?

YRS 9 I3 et famdt € &7 fsi

Uis 10 U3t fe g fended na3t € =93 © d¢f € Gegae fay|

UHs 11 U 3 U A3t €t faggtnt ust feg Su 83 U<t 97

YAS 12 I3t € »ag 54|

YRS 13 AfdeH®3T € »igg fad |

YRS 14 AfdeSHI®3T it famit fad |

YRS 15 99 € Mdg 8|

UAS 16 <0 fema3t fee faos gre Uer gaer J97

UHS 17 393 & AUSS Sel fAusTet e fausT €91 A9 3 =0 Y&dr d13T Ater 97
UHS 18 BYAIBUS U I< 5% 13t 3 ot ygre ier J|

UYAS 19 13T & #iar € &7 faa|

Ui 20 feneea na3t 9 Aated @ar3™ € fags € 337 &7 s 97
YRS 21 AfgeH® 3T feam Bet fruset € det € €ar € &F fay|
YRS 22 99 &bt famt &g

UHS 23 3O8US § TuBe © Je © 2T 8y

UHS 24 §HT AdTed &ar3T § faw 39t ygrfes aaet 97

YA 25 AZf®3 yara Aated Gars™ 3 df ygre UGt 97
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UHE 26 HAH ©7 AA9d W3 3 &t AT ger 97
yHs:-27 8fez =g g9 e faurz &t 97

YA 28 REf3q mretiifed 373 fan & »mue 957
UAG:29 f3H Mretiefsd 373 €7 af Mag 97

yAs: 30 fuzmat € GaraT faua arst 3 fsaga daet 97

yA:31 yf3fafen €t Garzr 3 3osT &t 7= 7

YAG:32 AA3 &9d ot J7

UA&:33 93 &9d 3 dt I 7

YA&:34 Adlad War3T € yru3t € aet € =1 fay|

YA&:35 AJed War3T faagtmT arst 3 faggg gt 97

UAG:36 AOld € SU-TH A3 € B9 €7 U3T Jd& et fauzT She 7
yr&:37 Afyféar arst € feam et fagagh-fagght fedtnr g7
UAG:38 €98 M3 37 T Aled War3T 3 &t ygr= Uer 7

YRS 1 AIIed WarsT € udlsmr f&u|
YRS 2 I3 € UdteHT M3 famt fgy |
yns 3 313t § feafns a9 & <ar fad|
Uns 4 43T fe g AfgsHi® 3T € Ho 3= f3y|
YRS 5 B9d €7 »idg M3 famit fad |

UHS 6 A WaIsT § Yagfed dds @8 det € 33 {3y
YRS 7 A WargT feam € et € fauts fay)
UH&:8 ITBHS €T Mdg €AY 9T, 47 fafer=t 7% fener r¥y er?

YAE:9 AAad 3T & feam B¢t fauz-faga Hao3=yas fruta 987
Urs:10 393 &t famit & a1 fad |

UA&:11 A9 a3 € YuSt € HY 2T fauas-faos g7

UAs:12 ¥ faferrer fe9 393 e &t Ho3= J7
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UHS 1 Mg »3 fysTet Adted GarsT & fan 39T ygrfes daet 97
UHS 2 ITBHS ©f 63T € 48t f[ 9 Ho 3= fay|

UAS 3 AOIOd WaI3T € WU 3< (&4 |

UHS 4 Adled WarsT € ufggmr feg

yis 5 47 faferrer fe'9 AfoertssT § fan 39t <urfenm 7 Aaer 97
UHS 6 A9 WarsT § SUTge € €T €|

YAS 7 38379 M3 I3 € femrfnr 41

YRS 8 AfgeH®B 3T M3 &9d &t fanmfm g3

YRS 9 Adlad WarsT € J€t 979 A3 f3y |

YRS 10 393 § TUEE € fY-2 ¥ 341d R

UHS 11 A9 WaI3T § YITe3 d96 T8 HY 3 3 faux 957
UA%:12 39 FUTEE © HY 2T faua-fauz 957

UA&:13 39 € YdH J9& BT fqaznt ara3sT niusgar?
UYA&:14 Adlad War3T € feam st faus-faus vy a3 g87

YA 1 AOled WarsT & 3 37 €t fengd 7% femmumr a9

UHS 2 Adled WaI3T € WU 3< fengrays=y fad|

UHS 3 393 df 97 fern § Fuds © 2o fay|

YRS 4 I3 © feam € 3da fau)

UHS 5 AfgaH®3T et famit w3 fen § surge © a1 3|

A& 6 A0 War3™ €F fea™ dd& BeT WY 2aT faus 987

UYHS 7 A War3T § YgTfe3 d9s T8 337 of feufmm ag|
YA 8 AIlad WaraT & feam & faui3t &t femgraus=sa fenfamr a3

(3 T TH YHS)

(5 M T YAS)

UYHES 9 AIIed WII3T & #iar g7d IHT ot ATew 37 fegst mrurag3 #art ar

Uy 5% 9S& a4 |

Ui 10 ferta® feed 7 € Wy wiar faos g7 fegst fes' fan € e <9es a9
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A 11 J5 fafunt feg ge379 e feam fa=° atgr Aier 9:-
(1) I9a3 feg 9239 (2) YSifafenr ge39
UAS 12 99 df get 37 fen € faustet € a1 e 0% fau|
UAS 13 AfgTHI®3T »3 9379 f fruzTet 3 ot g7< J7 <95 9|

A 14 Afifear 3 ot = I? Af{féar se39 feam fa= 13T A7 Aaer 97

UAS 15 3793 3 ot 372 I7 393 € feam fas stz A7 Ager 97
UA&:16 YSifafenT € »98 AUHe e JT, fene fea™ &t 'y €a91/fAuf3 € =d<s 9|
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us 2 frusTet fegbdt (Training Methods)

(1 7 T8 YHS)

yAs 1 frustet 3 dt 9= 97

UAS 2 ‘U7 fruset feq fugmat € 38t fammat e ufos »marg 917 fareT aus 97
yHs 3 frustet aran & fas grar fes <fgmr 7 Ager 97
A 4 fanmat @ mi § & gmar fes <fam A Ager 37
YHS 5 HITES € AN & fas grar fee 2famm A Ager 37
UHS 6 JHTEE 3 &t 3= J7

YRS 7 IS et faastut famit g7

UHE 8 Hafefamfaa granr@er ot 97

YHE 9 Hdled grongeT ot 97

UHS 10 Fatad JeHEe & & grar fee &famr ar rger 37
Uns 11 ferfarana sron8e € det € 391 €7

UHS 12 Ad19 § JoNT8e € d€t € Wy fAu's fau |

UHS 13 JRHTET AN IHa3T €t 9 fan nigrrg det ardtet 97
UHS 14 AdTT B WM™ JOHTET St a3t faaaint 957
Uis 15 fqde &€ u™H o< &t a3t faaaiit 57
UAS 16 JRHTEE € A3 Adld §°3 aet € ygre fau|

YRS 17 337 d96 € A'S Adl9 §°3 dEt € yg'< €n|

UHS 18 Bdfed mfAg 3 ot 7= 97

UHS 19 IS8T M3 Maass fT 9 det feq #i3q fau|
YRS 20 mretifed a3t &t et € Gerudst 3|
YRS 21 MTEtHefsd ara3t € et € 79 34|

UAS 22 MTEtHead aAa3T e aet € Eergaet 3|
YRS 23 Wretifed anast @ det € &9 fay|

UHS 24 MretRarfeafed anaast 3 ot g7 J7

UHS 25 Aafae frustet fedt fans gg i3t Ai?

URs 26 Adfae frustet fedt e dt feq &9 fay |

YRS 27 W39 frugret fedt fam & mg 3t?

YA 28 W39 fusTet fedt fas 3gt €t gt 97
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YRS 29 W39 et feul € aet € 379 fay|
UHS 30 T3¢ d faast g8 & Hue J7

UHS 31 798 d HYE €7 ot MJg J7

UAS 32 Me=d3 3 ot g7 J7

A& 33 999 AUSTE! midls MrET T8t Jet € anast (84|
UHE 34 Aade st er 9T af 97

UAs 35 feq 991 337 € det € g fay|

UH& 36 <77 979 €7 »idY &y |

YRS 37 yidr @ fAats g7 aet feq 19 fay|
YA 38 mareTet et faastt famit g&7?

YA 39 feut mae 3 at = 97

UAS 40 IOHES © det € fAut3 fay|

YRS 41 HHlsT Aafae frustet € det € &9 fay|
YAS:42 MBS € &1 Ig J7

UA:43 Aafae frusTet fedt feg fastyr anest § arie a3 faprr 92

UAG:44 TICHS HEE &7 ol 79y J?

yrs 1 fruset mee &t fonrfonr 331

UAS 2 JHEE 3 &t 3= J7

UAS 3 JHTEe €t famit fad |

YRS 4 JOHEE € a9t €@ a3 fed|

UAS 5 JRHTEE 578 Hdld 3 U & ygre f&y|

UHS 6 337 d9s © fuztat &t aragrardt 2 &t ygT= U 95|

UHS 7 MBS € Adtg §ug &t mirg Uer 97
YRS 8 wretiHtefad amast 3 feust adl
YRS 9 MretRefsd anast 3 & fay|

UHS 10 MretiaTetsfed araat 3 feust ad|
YRS 11 Aade féar € 379 fad|

yrs 12 979 fuget © 379 fay|

UAS 13 A9de fAusTet @ Gegde set feq Aade e 939 a8
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YRS 14 W39% fAuset fedt 3 fea &< fay|

YRS 15 W39 AysTet € det € 879 faa|

UAS 16 U3t fog yGiar w3 mysidr € g3 € o33 e x|
YHS 17 Mgy &t det € udtgm=t fay|

UAS 18 Adlad fATaT € ¥39 fe g Sisafiy e vo3= €n|
UHS 19 MarHTet € fauzgret fee Adtea fAfwr €t ot vo'33T 37
YHE:20 W398 M3 Aafae frustet feut feg ot w39 97
UA&:21 43 HarafenT 3 goe fustdt mrue Adle & fa= 837 adar?
Yr&:22 Adfae frusret fedt &t vy fermsr=t &t g&7?

YAE:23 W39s fuzret fedt e ye fAgia &t 97

UAE:24 U3 fafenret € 439 9 qua™s & ot Ho'3< J7

(3 T TH YHS)
UHS 1 7ad®6 M3 JPHST feg &ad ex |
UAS 2 wireiftefaa, mretiefaa M3 miretiaretsfea angst feg #i3q fau|
YRS 3 T9cad Husel fedt € 379 w3 gatt fay|
UHG 4 Aafae frugret fedt 3 fe'a may &< fay |
YA 5 #39s frusel fedt &t vy fenmar=t ey
YA 6 AOled ATy € 439 fe9 993 M3 »ed3 € fAu'3 BeJde € o AURe &d|
YA 7 Bizafay &t famit x|
Ui 8 fed 991 337 € gt 3 976 UQ|

YA 9 g 979 &1 frusTet € ot 379 957
UAS 10 wretiifed W3 miretRaretsfed anast € &9 w3 gatit f&y|

(5 W TS YHS)
UHS 1 JreHee 3 &t 72 97 aenle € fauts fau
UHE 2 Fdl § JHTET € Y- Y Al 3 I8 UTQ 73 I8 78 AAlg 3 Ue 8
yI< fay|
UHE 3 JRHTEE M3 337 J95 € fafgnret f&9 ot 39 J7 u3 feg 837 a9s fagt
HI QYIS J7
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UHS 4 Agae frustet fedt fan & afde 987 Aaae frustet &t Auds ara3t wid
&g fau|
UHS 5 »EIRTEL € Jf Ho 3T 97 9793 feT niaeret frustet € fem fee
faaatmi-faoatnt Ag@3t Ho e g7
UYHES 6 YUdT, MyGdr W3 2UJ Y&dr € frui3 er fergg-ysed 29es ad|
YAE:7 MBS € MIg AUHS Jd¢ J¢ fere A8 male €3 U =8 ygr=t & fenrfionr
dl
yAa:8 I& fafanr argst feg fan fea & fenrfinr gae 38 379 M3 gt fau|
(€) mretimitfea () mretRefaa (8) mretiarfeafes
Y9 43 faferrer 3 gie Adte & &3 d9s €1 ot Ho'33™ J7 83 et € mate €3 U
T ygreT 99 &y |
UAS: 10 MrEtiHifed, mMretRefasd w3 MretRarfeafed anaaT feg #i3q fau|
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UTs- 3 Adtad fAfumT € mifad vy

UYAS 1 Adled fAfenr 3 af 7= 97

UHS 2 I35 UTdaT MGHTd Aatad A o™ & ot mifswr Afer /e
A& 3 Adled fAfun & ugaT & a6 gmar feg 23 Fae 7f|
i 4 fan & Adted fafu e fugmim wfmr wier 37

YH& 5 # .8 3% ().B. Nash) »igArg Adted fRfumr & ot »igg J7
yHs 6 at Adlad fifunr e §on fage Adled feam s 37
YAS 7 Adled fAfimr & der &t 97

yAs 8 GEm 3 &t I= I?

yAE 9 9 3 ot g= J7

UAS 10 I=3NT fea 3 &t g7= J7

yAs 11 Ufgerd 3 &t 7= J7

YRS 12 J€ € ANTfAd Aasst € & 3y

YHE 13 AN & UfosT fatss fagsT 97

A 14 ufgerd e Hay & feege €ua ot ming Uer 37

RS 15 ufged 3 g fan fetes e gfent §ug g3 ygr= Uer 37
UAS 16 T9Ha ARgT=t g femast € fegg €3 &t ygre Uer 97
yAs 17 fan €n e u3t feg ygrer fef3gm 97

YHS 18 ANTHIGES ot J7

UAs 19 feu® AN’ €t Gar =93 dds & aet feq 3dtar fad|

UHs 20 fenast & rasudt =8 &et det & Gent € &t fay|
YRS 21 Adtad fAfa € et fea ufagmr fegl

yrs 22 39 W3t e femadt © fesoe 3 fea garm ygr= fay|
UAS 23 mareTet fas 39T &t get 7 &7 f3y)

UAS 24 MareTet 3 &t g7 J7

YAS 25 Ut 7. A (P M Joseph) € MEH™S MaI=Tet €7 dT #ag J7?
YRS 26 AN €t g9 3 &t 9= I7?

YRS 27 9793 feg ust &t a3 ae It Hi?

YA 28 AHTTAE AHT €T %dE AUHS J4 |
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UAS 29 MEAHS 3 ot g7< 7

YAS 30 gfrmT € Jfens 3 gorsT df g7= J7

RS 31 f3nmar & 97T € g faw Uer a3 A7 Ager 97
YAS 32 ANTTAE AHY fd& 397 e ger 97

(2 W TE YAS)
UYAS 1 Adled fAfnr 3 af 7= 97
yHE 2 Adted fifimr e der &t 97
UAS 3 Adted fAfunr € Gen faua-fags 957
YRS 4 AHTAA AAT66 €7 MJg HURS J47
UYHS 5 AHTHIgEE 3 af g2 97
UAS 6 Ufde™d €7 Ha ¥ ¥ fegrg 3 df ygre Uer J7
yns 7 fefera rraret 3 99 faus-fags g fMye g7
A& 8 AHETE €T fenadt € fegg 3 ot yg= Uer 37
UHS 9 dTHEd €T My Ht fegrg 3 af ygr= Uer 97
yHs 10 Afgdar M3 AfoemissT e 43t fev ot ras J7
yHs 11 u3t fuztdt feg myoa fiverat € gie faw 397 Uer gaet 37
UHS 12 ANTHAtgde feg &as e &t Ho3<e J7
UHS 13 AMTHtgee feg Ag™f €7 df Ho'3< J7
UHS 14 ATrtgee feg gHeget e &t Ho 3= J7
UHS 15 IHed! 83T 3 ot g7 J7
YA 16 Aatad fAfwn W3 aHedt gaaT feg ot g 37
YRS 17 Afad Argret faogdtnt-fagdtt g7
YHE 18 gTHedt T3 € ot B3 J7

UHE 19 43T Irdt #W39-aHedt gEtgTd fe9 fas @mgr aigr Aier 97

yHS 20 UfgeTd T avrfaa o3 ot 37

UYHES 21 Ufg=Td € H® oW df 987

YA&:22 RIS fAfar € gret & a0 gmar feg s famrr 97 a1 fad|
YR&:23 AHTH & JEt 979 HaI6aT & &7 {3 |

YH&:24 AJTad Madr3T € HY #idT fads 757

YAE:25 U3 It ITHedt ga3T €t gesT fa= Uer gt 97
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YA&:26 Adted fafum € u39 foe fustdtnr wet fea &is9 <t faf 3 U<t 37
YA&:27 U3t It fea 9ot mi = fsawre ger 37 fa=?

(3 T TH YHS)
yAs:-1 fefoma imaret e fonast € fesoe 3 at ygr= 97
UHS 2 ¥3T M3 AUder 34t fenma3t M3 Ay e Aiaes fas ger 37
YHE 3 Fdtad A fteiT 3dt AHTT & AMTHiaes fae Age J7
UHE 4 Adled fAfimr @ ot Ho'ge 37
yAs 5 Adled fifinr 3 ot g7 97 femrfmr aq|
UHS 6 “UF € HE's Wit sarfaa3T € YHamHTST 17 f9& dd |
YAS 7 AAed At m3 midtaee e mrun feg ot /g 97
UA& 8 AIled AT er der w3 §en faus 57
YHE 9 Fatad fAfumr € 439 § fas grar fee efaur fapr 37 <9es a3 |
UHS 10 ANTHtgee 3 df 9= 97 Jet fea ufagmr fad|
UAS 11 AHeTfe 3 &t 7= 37 Averfe e fenast © fegg 3 ot ygre Uer J37
UHS 12 43T Ha ¥ § Afgwmarad fean € gu feu yruz 98t U%; <9<s J3 |
UHE 13 43T 29T ITBNS &t geaT ©F feaw fae ger 97
UHS 14 43T 5% fanrar &t 97T v feam fag ger 37
UAS 15 43t 5% fegrg fe's gesm™ fa= ger 37
UHE 16 A AT gnirar aHedt 893 & fas =urfenmT AT Ager 37
YHE 17 Adted AT, fena3t € feod at § 31 a1 5% 9313 d9a € A0S J,
oy fee fy)
UHS 18 Al fATe g AMfAd giet e feam fas ger 97

UHE 19 ¥43-g € 37t YT fe g Arides € faoa-faus gie Uer Je 957

UA:20 Aatad fifinr g a3 @ feam 58t #iz9 &t ot o337 37

Un&:21 843 fefend Amgret feq 99 € feam w3 fesge €3 fas ygre uEemr 957
yAs:22 Ufgerg e feq 99 © fe=od €3 fas gwr ygre Uer 37

UA&:23 UF g€ a9t fena3t feg mirtdes € gie fas Uer g€ 957

YAE:24 4T gTaT THEd! 83T § fa= HAE3 Ji3T A7 AaeT 97

YA&:25 Aated fafumr fee migreret & fruset & &t o33 97
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(5 W TS YHS)

UHS 1 Adled fAfim @ mifaa 'yt 979 3t ot Arew J7 ferga-ya=a f&y|

yns 2 fenadtars feue & mirfaa A=t fan 3§t o3 {98 39 yg=3 daeit 97

UAS 3 “43-g e fed Afgmrgraa €< J1” fen gus €t fenrfinr 33|

UHS 4 JHed! 83T 3 AT ot AHge 37 feret &t 83 97 aHedt ga3T @ feam few
Adtea fA T €1 &t gfiar 7

UHE 5 83 ge 3dt fema3t M3 Ay € AHHIdes € giet e feam fa= ger 37

UHS 6 AHTIEas 3 &t 97 J7 Adted fAfwn mirmtads &t yfafonr 3 fag ygre
urgEt 97

YHE 7 AHTHA AHT 3 39787 a1 §7< J7 ANTIAT AYT €t femma=t e <9es J4 |

Uns 8 fAfa w3 urond Amgret A8 fegrg 3 fas ygr= u@ehit g7

YHS 9 YT ITdl 991 BIF9/E3T € IS ©F feaw faw 3T A7 AaeT 97

yrs 10 ufgerg &t femmsrett W3 famit g9 fay

UHS 11 miTfAd AmET € gy feg ufgemg &t GutiarsT &7 =des a4 |

UHE 12 ANTHIIES ot 7 AHTHIaas 9 B9™, 9% M3 gHede! &F af Ho3< J7

YA 13 Al fAfwnr 3 &t g 97 fem e dem w3 €ent e <9ss a9

UHS 14 Adlad Ao & Ho' 3= €t fenarg yaed fenmfumr ad|

UAs:15 AHfAa Arget faggtt-faggtnt gs? feq ferast €3 U =8 yg=t &t
fenrfm 931
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~ .

UTS-4 MAHIEIT € Ta8H M3 HI-TR<T

(1 7 T8 YAS)
yHs 1 AT ae! fenadt fan an & a9s fee mdar ger 7 3t 87 Afgst § &t afde gs?
YA 2 MAHIE3T € et € J96 €A
UHE 3 Adled MUar3T A mAHaesT fad yarg &t g<t 37
yns 4 fgge a3 &t vimieasT faos fustdtmt fe w3t 97
yns 5 fafamt 3 gare =@t aet € dhirdtnt € &1 fau
UAS 6 “wfadt o783 fAn fee Wy farm 37 € aH ags f<e »imeg § AfeT 4,

WMAHIE3T €1 83 gt I1” faner ags J°?
YRS 7 "ANIE3T 3 g9< © ae © fAuts fag)
UHS 8 HI-THS & Arafed 9= |t 97
yrs 9 & yfafewr e & fau faw #ieg feq mimiee fenast § 99 Ae= AofesT fe st
Aret 97
YRS 10 &t H3-TR<T fAge Adted iast 3a Jf AWz 37
UAS 11 H3-TH< &1 Jet € Qus 90 Ae=t © &7 {34
YRS 12 H3-TH= &% g3t J€t € Angret & &t {31
YRS 13 37931 3ufed 3ar Aw &t rgmusT g< Jet Hi?
YH& 14 33 §F (Blood Bank) & HY &1 &t J7?
YRS 15 3937 I%-g& el Ufgre & AEUsT d¢ Jet?
i 16 fAzgtafam 3 &t g7= 37
yrs 17 fRa e afee It = a7
UAS 18 Towes =t 3 g8 et gl feq fawm fau|
UAS 19 »AHIE3T 3a< &l aet fea fu's fad|
UHS 20 HIGSTIHG AT MTHS MAHIEI'=T dT I5 |

yns 21 fan feq fasmardt mimigesT e &7 fau |
YRS 22 A9d MANE3T € HY 9% fda I87

YRS 23 HI9&T3IHA MAHIE3T € J! feq aras fad|
YRS 24 a1 B0 fenmadt § »imHag ge fée a7
YRS 25 MTHS HYUT € WAHdgaT=T € & &y

UHE 26 MAHIE3T &t J7

(30]



A 27 Aga3 frmerdt at 97
Y28 fene fAug Aates (WHO) € MaH™d MAHaaT ot J°?
YAE:29 9A& foan & mmae 987

UA&:30 gEd3t Me3t & & {1 fagdt vimige3T e aas gt 987

yr&:31 fafemmana nimigaagT=t fagdtr g7
YAE:32 MAZT83 9A& fan § mmye 987
UA&:33 A o™ GuaasT € ™ fay?

YA&:34 LLT. €7 yar &t fed?

YA 35 SHaS ferta® 8dedt (N.P.L.) &t 97
YAE:36 IHEdT! HEE 3 3T Al 2 J?

UHS 1 gowesT 3 g9 et g fef

YRS 2 WAHaE3T ¥ faga-fags 98 g57

YRS 3 "MAHIE3T gt famit € &7 fai

YRS 4 MAHTE3T 3 g9< € Qum faua-faos g7
UHE 5 "MAMTE3T 3 df 972 97

UHE 6 HI-TH<T ot 97

YRS 7 "MAHJE3T Id< € det 99 faut3 fay |
U 8 AU96 fd (3t fee Je T8t mimigaa=' € &1 fay|
UAS 9 AEIZefAn 3 &t 9= J7

UHS 10 WEITIAR 3 ot g7< J7

UHES 11 SHIBPHT AT € ARS € dl SIA™S 987
YRS 12 J€F € ANTH A< ARET=T © & &Y

UHE 13 7931 I g™ AFTfeet 27 ot o J7

UHS 14 A A& MESH ARET € &t a J7

UAS 15 97931 I8 JfeE JHS & ot aH 7

UHS 16 I TA= 9 A &t &t givar 37

YR 17 JTEETHT (Kyphosis) MAHIE3T € dEt € d19& 8|
UAS 18 AASTETAN (Scoliosis) WAHIE3T € It € 96 fBH|
yHs 19 & gt & fanrat faos arast aad get 97
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S W

UHS 20 94T € 39T fau= 96T J9d I 967

yAs:21 fesnedtms 91 g9 gamfes anit Amgr §T fee ae wmret w3 fem er vy an ot 97
YAE:22 MAHgE3T fena3t €t faeaht & mifra 39 3 fa=” ygrfes aaet 37

YA 23 MAHE3T fema3t € ufgema 3 & gar yg'= urg'et 97

UAE:24 A3fE3 w3 mitz3fes sas feg ahisg 397

YAE:25 HeB! ATfe3T A WAHgesT 3 fas gerget 97

UA&:26 HS SHY € HY 4397 © &' faH|

UA&:27 HS <AY &t AgaTdt w3 fa 7l foest @8 fausht Aeet Quzyy 957

UA&:28 I931 IF J9TH AATEST &7 WY 9 ot 7

(3 7T TH YHS)
yrs 1 fafamt 3 Uer 9= =8 fan fea 3a1 3 < 34|
yns 2 frstafm w3 evr faua-faos fafant 5% eoe g7
UAS 3 Hest AgTfesT 3 &t = 7 fen & Ho'33T 979 Areardt feg |

UAS 4 gowWeas= 3 999 © faus-faus 39t g7

YRS 5 ®AHJE3T 3d< © g¥ M U3t €7 T9es 9|

YRS 6 AUde fa 3 AUt 31 faoa-faus ga7

UHE 7 HI SRS ot 37 HF TR< B8t Qusgy aet € Aevet @ &1 fay|
UYAE 8 Aargféar 3 &t = 97

UAS 9 7931 sHEE! J A% g9 IAT &t ATee I7

UHS 10 HS THY € AHTAT § I8 996 ST ANTH 3 Agd'd € af giHaT J7
UHS 11 HS A< € AT & % J9s 9 aima &t ot gfiar 97

UAS 12 H3 SH< © 439 feu Quaau At fauahit g7

UHS 13 MUTfad W3 »iAHd § BT &t AuTfed AngT=t fagatt a7 fan fea 3 &< fad|
YAS: 14 mMAHaEsT femast €t faesht & fas ygrfes gaet 97

YAs:15 TS fafanr fee Uer I =8t nimigezr=r fagg 957
yAs:16 fagz fafanr feg u3gaa gowes=t e 39 gfenr afder 97

(5 M T YAS)
UHE 1 MAHTE3T fan & afde g&? mmveesT f&& 3g7 & 9t 97 fen € fu-fu aas
SR »AHIE3T 3 gue © frui3 & ey
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UAE 2 AU9s fafant feg I @t a3 979 fay|

YRS 3 HI SRS € 099 € w3 fen € 439 99 fod |1 fen € S e en d fy-Ty Uyt
3 IHST U

UHS 4 U3 SR<T of 37 fon & 439 99 f&4 | fen et Qus gy Aot @ <dcs a9 fem
feg A8 A= €1 &t gfiar 97

UHS 5 H3-SH< © 439 feu Qus gy ¥af 3 &< {8y

YRS 6 MANIEIT Tf Ufggmr {8 | mimHag3T U™ 596 <78 SY-I Y J1d6T ©F SIS6 J4 |

UHE 7 AUas fafant feg I 8t maHaaaT w3 shHdhT g79 3t ot Ate< 37
femmfimr ad|

YRS 8 MAHIEST 3a< € M T3t & fenmfumr 3|

UAS 9 H3 A< ©f Ufgg™ €X o fen € 439 §ug gae g

UHS 10 HS THY € AHTAT § U5 996 ST ANTH 3 Agd'd € af gHaT J7

UHS 11 ANTTAE ARET=T M3 AYY €7 H3-Ti< S 9 ot Gae's 97 fergraya=y fad|

UHS 12 Sowes = 3 g8 B af U a9s g7 femmium 331

YA 13 HZ THY (YSISH) BT ANTIAT ARET=T €7 HY STYIS df WS J7

yns:14 fagg fafanr e u3gaa gowes=t e 39 gfewr afder 97
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UTs- 5 W™ 43 Aet 3 997 mi3 HesT Agrfear

(1 W TS YAS)

yHs 1 @ €t AgT® et yod fe g at 8T gater 97

YRS 2 g< < fan € famit € &t fau|

UHs 3 A 931 ge A & feq fiaer g 2¢ gar feg en Afer 9, 8w 2 &t fam
o &t gH?

YRS 4 A€ 33T aet gt 3 ge A< GH g & fami e 5F €A

YA 5 He 3 df = 97

UYAS 6 HY W™ 39 3 fag »rEet 97

yrs 7 HY & fan fea fam g7 &1 fgd|

yrs 8 fustdhut feg fugm e 3¢t feq a9s €11

YRS 9 Hed AITfed © det € g f&y|

Urs 10 Hes! AutfesT e feq frats fay |

YRS 11 9H3T €t AeTel T det feq €ar fay|

YRS 12 HY €7 3¢t feq a9 fay|

UAS 13 931 © 2 et faastt famit g7

YRS 14 HY fas famit it ga7?

UHS 15 HEs! AoTfe3T 3ait Af geg & J¢ o<t grdiet 97

A 16 ot Mieae fomadt enmar fe gt aret Hest rorfesT srgardt g T Aa<t 97

UHs 17 dt Hest AorfesT fesnrat fanfamt § Hags g9t 97

YHE 18 39T § HEest AuTfesT €< Hae' 393 fag & Arer grgter 37

UH& 19 AJ gd< 3 301t § 978 g &< & fan fea feut & &t fau|

UHS 20 5783 AT fafemm & g€ Iq Adt gueT grdter 97

YA 21 fAB<Aed 2o fam mi =afamT Arer 37

yrs 22 fan §He fee yuzs 13t Aoz Ha v § At fiedit yroms gevet guet 37

A 23 o3 feforns faus € reet € pis 3 gfewr 37

YA 24 AgTEl fa€" Agat 97

UA&:25 Hes! AgTfesT 3 3T &t AHse 97

UAE:26 SIWSETET &7 M J9& At I7
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YAE:27 Hest AgTfesT At Areardt g fag Agat 97
yA:28 fadt ot J7

YAs29 §€ ce M3 ¥l ge fea at wzg 97

YAE:30 F 91 (Ta) ge war § fa= ygrfez gaet 37
UA&:31 9578t AY < € feul € € €91 € & fay?

YHE 1 Fed <ar & fedt ' 3t €t Afast faw 397 9t adtet 97
yrs 2 g3 fefamrs &t a€t € udtgmr=t fau|

yns 3 A fefarrs & Ho 3= €F|

UHG 4 U3t € €976 Ae BdIE € Tt € HY J9s &4 |

YA 5 I3 g €t WY fammatnt fad|

UYAS 6 HY df 97 few bt famit fau

yAs 7 fugmd at 97 few e fega f@y|

yHs 8 HeEst rorfesT € fau fau|

UHG 9 T3 T A3 §39aT fan § mmue 957

yrs 10 fed Hed Aufed € dEt € gt ©F <46 ad|
UAG:11 M € W fE9 Hes! AofesT & &t Ho33™ J7
Ui&:12 Hed AuTfed € de! € g &y
UA%:13 Hed! ATfe3 € det € fam fad|

yns:14 fags feforrs & »igg Auwe 91

YAS:15 HE ¥ BTt g3 fefamis & Areardt =T fag Agdt 97
UAs:16 9t & Ags fae daat grdiet 97

Yr&:17 ©ef AYUl d€t € 3ar € &7 fay)

(2 M T YHS)

yrA&:18 d8BEg ge 3 af 7= J7 feu M Jad faos wiart § ygrfes gaet 97

Ui 1 A fefarrms e »igg fad 3 fer &t vo33T f3y|
yAE 2 HY at 97 fem € se< w3 few fau

YA 3 92783 AT €< € Aed €41 §7d &¢ f&H|
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YRS 4 92783 AT € € I%JId S1BAS €aT 979 &< 8|
yHs 5 I3t evgeer df 97 fon € e »3 fesw fou
UAS 6 I3t € A= € 83957 ot J7 fen e fewa foy|
UAS 7 HES! AuTesT © faw ot g7
UAS 8 979 AT €< © fAs<Heg a1 € fenrfim 33|
yHs 9 fugmy &t 37 fen € e w3 feg= fay|
UHE:10 %3dT Ifde B gy & oz fefarns € faoz fawt & useT d9sT Agdt 37
yrs:11 J& fafunr fes fan fea 3 &< fog | foufon 347

®) oF AR I TS (M) T ARl 3 HIE
YAs:12 T5T €t ATl 3 AITS BEt faugnt arst € firs duer grdter 97
YAE:13 iyt €t A% &et Ag fagdt arst e fomrs gyer grdter 97
UAS:14 957821 AT € SEt Aed <ar €t feut fay|

(5 W TH YAS)
UHs 1 Hest rorfesT &t 97 fen € fauts w3 was= fay|
YRS 2 Hed! AuTfesT e I8 el f[aua-faua gie 9 Idie 9&7?
UHE 3 T3t g geer &t 97 fene arae, famit w3 fesa fod|
UHS 4 HY w3 fugm &t 97 fegst € 38, a9s w3 fea™ fau|
yns 5 o3 fefamrs &t 97 froa fefarnms €t 83 w3 vo33™ fag|
UA&:6 9678<T AT € HY BT faus g7 fan feq €1 &t fenars Afgs fenrfumr g37
yis:7 fo it fies fefamrs & fonrs fe'e gue 3¢ def &1 1o s fa= Jd41?
YA&:8 Hed! AuTfesT € fowt & femarg yaga fenfunr 331
YHA&S:9 A #iyt »i3 I& € Aig Ags et fagght arst e forms JueT grdter 97
yrs:1e fa+t frgs fefams ewmar widar afge &t Ad faos famt & ugeT agat
grdtet 97
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Us- 6 Ufgerfaa dies Agat fafum

(1 7 T8 YAS)

YRS 1 HaHt i & Hfsa fearet e & fgy|

YRS 2 ufgerg et fashut famit g5

yHa 3 ufged € vy 33 fags-2 957

A& 4 Ufgetd € U® o €A1

yns 5 feafasr ufgerg 3 &t g7= I7

UAS 6 AEa3 ufgerd 3 &t 7= J7

yHs 7 “UfgeTe 3 AST H3BY W AEU 3 T fAgsT w3T-fuzT w3 gfenrt feg Hge a1
e qgs J7

yis 8 “Ufgerd fea y& mirfad far 3, fan f€°9° 99 Ardbot frgret & feam e’
farer gg& J7

yrs 9 fara miengT 3° gAt ot AHSE 37

yrs 10 fara mienar €t det fea Har fay|

Uis 11 fang miener &t aet fea mifmr feg|

yHs 12 H3™-fugm w2 gfent € igu § 7 fed o7 afae & ot faor Aier 97

YA 13 89 fena3t fagsT € At aHeg € fegg-=eted At fonr ydu feg gar 8< &t
A aT dyer 3, 8T d< I?

yrs 14 feg 9971 ararfaa & det feq I &y

yHs 15 fommg an B34t €t §ve we 3 we faat 9t st 97

A 16 feonmg AN B39 & Gve we 3 we faat et srdt=t 97

yrs 17 faast miewer fe9 Adte w3 gt = feam 3+t 7% Jer 37

YA:18 AETE! HHET €T &t Mg J7

YA:19 faha mengT & »ag &t J7
UAG:20 89 BT 991 AHAgT €7 HE faH § ue 987
UYA&:21 T9fed A9 3 ot 972 J7
(2 W TH YAS)
yrs 1 Ufgee 3t 9= 97
UHS 2 I&d € Heet feg ufaeg &t ufggmr feg|
YRS 3 §%793 € Haet feg ufaeg &t ufggmr feg
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yrs 4 ufgerg &t famit € &t &y

yrAs 5 ufee g e HY 33T € &F fau|

UAS 6 THST 3 &t g J7

UAS 7 AEda3 fiderdt 3 &t 3= J7

UYHS 8 WS mfuarg 3 &t 7= J7

yHa 9 ufgerg &t 63Ut € d€t € wug fau|

yHS 10 Ufgreg € J€t € ¥s oM fad |

Y 11 farg »iemegr 3 &t g7 37

yrs 12 fang miengr € fan fea mifmr € =9es ad|

yAs 13 faig miengr et det € Har fsg|

UAS 14 fommg € 5% ufgers er ot Ay 97

YHS 15 31a1fad & gu feg fena3t € df gad 957

YA 16 farg miergr &bt i et 3 fatr3as fas a3 AT Ager 97
UAS 17 UfdeTd &t Wy fermgr=t faught g7

yAs 18 faig mienar gt mi =t faggtt g7

UHS 19 WA 3 &t g2 7

yHe 20 faiig mienr fagst Gy fes wrg<t 97

yAs:21 faig menar feg gfert § At nereret & 83 fag 97
yr&:22 farg mener &9 faggasT M3 MrarfadgdsT feg Hwan &t &t givar 97
yAa:23 fea 991 srarfad &t ghhar fsgrS< set det € gre en|

(3 7T TH YHS)
yAs 1 Ufgerd 3 &t 9= 97 at ufggmr fed|
yrs 2 ufgerg et famit g7 iy feg <95 ad1
UAs 3 Ufged € HY 33T €7 925 AT |
yns 4 ufgerg € Wy fenaaet € 3¢5 J4 |
yrs 5 ufgerg €t 83Ut a< I8t Mz v vrarg &t 97
Ui 6 UfgeTg € §3U3t € mrug faus-fags 9&7?
yns 7 ufgerd € U o fagzs-faa=s a7
YAs 8 §9 € Adled feam feg ufaema & &t ghvar 47
UHS 9 ¥4 € WsHa feam fee ufgema & &t gfivar 97
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UHS 10 §9 € 9fa 39 feaw feg ufgea <t ot ghiar 37

YHS 11 §9 € Aifad feam fee ufgema &t &t gfiar 97

UHS 12 §9 € 7e3d fea feg ufseg &t ot gfvar 37

UHS 13 §9 € Anfg3d feam feg ufgeg & ot gfvar 37

UHS 14 99 € AUz € feamw fe9 ufeemg &t &t ghiar 97

UHS 15 ufded M3 AgS g9 feu AfgeHifias »3 My Wy €3 3 due e feam
fa= gaer 97

YRS 16 g miergr &t iar 979 Areardt fegl

yAs 17 faig miengr &t et 3 fswizgae uge € 3dia fay|

yHs 18 gfont € afgmre feg wrar-fuzr e ot Gaers 37

YA 19 faig-nener feg niegnee »3 waggeTe e ot fwaw J7

A 20 UfgeTa fatins 3 ot g7< J7

YRS 21 Agad ufgera & fenfonr 331

yrs 22 feraStars ufeema &t fenrfonT ag1

yis 23 fenmg &t fanmat &bt femmsr=t x|

(5 W TH YAS)
yrs 1 yfgerg €t ufggmr, famit, §3Ust mz €ne wirug fau |
yns 2 fang mewgr &bt mifiret 3 Gust € 7% f3y|
yAs 3 fang wiewe €t iar w3 J1-at mi =t &t 95 w3 Bt & fa= fausfas
3T 7 AgET J7
A 4 fenmg w3 ufserfaa mies &t fammdt 3 fergrays=a &< fad|
YA 5 &afdd & gu feg femadt € ot gad e 957
UYHS 6 91 sTarfed & givar fsgBe 58t fenast € a1-at gad de Ile 767
yHs 7 ufaerd et mifret § fa= g 9 3fvedm A7 Ager 37 fenrfunm aa|
yns 8 famg miewgr 3 &t g7 7 fake mienar St mifrret g7 T9es a9
UHs 9 Ufged w3 Ags feq 99 € feue 3 fas yge ue ga? fenag 5% fad|
yHs 10 H3T-fuzgT &t §9 & ey-3% feu fan 3g7 & givar gt ardiet 37
A 11 “ufs=a feq mirfaa AneT € gu feg Gudstt Jer 31 fRa a4 |
yHa:12 fea 991 srarfad &t ghiaT fagr8e &et faus-faus gre € 9l 957
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11.
12.
13.
14.

15.

16.

17.

18.

19.

20.

HTI-grg<t
AUS JUad -1
Aalad fAwdT w3 st

(FaT )
Adted a3 € yru3t € det @ €a1 &y
I3 T &t MIg J?
Adte & I8 ¥ JEt € a3 fay|
MEIBS T &I MIF J7
Aafae frusret fedt feg faashi arast & Arive 3T fapur 97
nretifed araat Emfaet € Gegast fau|
Adtaa fafiw 3 ot g7= 97
MAHTEST ot 7 € a9s &y
HE8 AIfed € JE! € g f&yg|
"9 faat yarg €t gt 97
(FTar -m)
B9d €7 df 9w w3 famit fed|
Hafare frusret fett St femmsr=t &t 957
AH™H € d€t 970 Aot © &1 f&y |
AHTEST femaat € ufgerd 3 ot yg= gt 97 (4 x 2 =8)
(37ar-¥)
B9 U € Y &1 fauz-faas a7
AA9d WaraT ©F &t Ha 32 J7
Ty g9 < frusTet € &t 319 957
I fafumt feg fan fea 3 &< fay|
(3Tar-H)
HAlad War3d™ € HY 33 faus 957 femgrguaea fenfunm 531
A

WA : 40

(10 x 1 =10)

(4 x 3=12)

nretHtfed, mretRefad M3 mretRafedfed ana3t feg #39 fau|

I ET I it = I? fen € fAT3T I g5 U
|
foig wiemET 3 ot g I? fou St et @ @95 J4|
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11.
12.
13.
14.

15.
16.
17.
18.

TS gTg<t
AUS Jud-2
Adtaa fAfum™ w3 st

(I )
fuzrat <t GarsT fagstt arst 3 faggq aa<t 7
9B d HEE T a MIg J?
I T It g= I?
mrEtRefaa anaat et Jet € Gergaet fay|
feo® MY €1 @ar =93 996 € J9f fed 39t fay|
H3-THS &% g3T d¥t € ArgTeT € &7 4|
fafamt 3 BT T st qet € fanrdtnt € & fad
ufgerg 3 ot g< J? famdt fsd|
fea 9ar 537 © € a1 f&y|
farg feengt €t det fea mifmrr fga| (10 x 1 =10)

(3Tar )
Adtad Gar3t € feam 8¢ faaz faoz Hos=yss fauis 957
MHgeE 3 ot g7 7
Ated fAfamit &t arastet & fas grar feg <famr 97
ufged € Y 33 € & fau| (4x2

(gTar ¥)
3e37d M3 I3 € fonr ad|
95183 AT @< BE Aed ©ar < feut {8y
feq 931 sarfaq &t ghvar fegEe Bt fauz-faus e I adie 9&7?
ufgerg e feq §9 € fesgg €3 fas Fwr ygre Uer 37
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(4 x 3=12)



19.

20.

(37ar ¥)

HAlad Gar3T & YsTfe3 dda 8 3 37 &t fanmiumt ad|

A
Adtaa fAfant 3 &t g7= J7° few @ 9 w3 6<nf € <9<& J9|
Adlg & JHET € Y TY €Al F 6 UG W3 JPHET 5% AT 3 U =8
yg< fau|

Hr
fama mierg™ Tt i A=t w3 @ast € 78 ey (2 x 5=10)
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